
a) P is inversely proportional to Q and                       
P = 14 when Q = 2 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 7 
 

 i)     P = 
𝑘

𝑄
 

                          14 = 
𝑘

2
  

  k = 14 × 2 = 28 

                                  P =
28

𝑄
 

ii)      P = 
28

7
 

          P = 4 
 

b) P is inversely proportional to Q and                       
P = 12 when Q = 3 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 9 
 

 i)     P = 
𝑘

𝑄
 

                          12 = 
𝑘

3
  

  k = 12 × 3 = 36 

                                  P =
36

𝑄
 

ii)      P = 
36

9
 

          P = ………. 

c) P is inversely proportional to Q and                       
P = 8 when Q = 6 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 3 
 

 i)     P = 
𝑘

𝑄
 

                          8 = 
𝑘

6
  

  k = 8 × 6 = 48 

                                  P =
48

𝑄
 

ii)      P = 
48

…….
 

          P = ………. 

d) P is inversely proportional to Q and                       
P = 12 when Q = 5 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 15 
 

 i)     P = 
𝑘

𝑄
 

                          12 = 
𝑘

5
  

  k = 12 × 5 = …….. 

                                  P =
……….

𝑄
 

ii)      P = 
………

……..
 

          P = ………. 
. 

e) P is inversely proportional to Q and                       
P = 10 when Q = 2 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 8 
 

 i)     P = 
𝑘

𝑄
 

                          …….. = 
𝑘

…….
  

  k = …….. ×……… = ………. 

                                                 P =
……..

𝑄
 

ii)      P = 
…….

……..
 

          P = ………. 
. 

f) P is inversely proportional to Q and                       
P = 20 when Q = 2 
 i) Find the equation linking P and Q 
ii) Find the value of P when Q = 8 
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